=> restart

) y'=0
Ecua = 2xy(x)5 + 24 )czy(x)4 —24 x3y(x)3 + 50 )c4y(x)2 + (5 )czy(x)4 + 32 x3y()c)3

- 18x4y(x)2 + 20x5y(x)) (% y(x)) =0

> with(DEtools) :

> odeadvisor(Ecua)
[ [_homogeneous, class A], exact, rational, dAlembert]

> M= 2xy5 +24x2y4—24x3y3 + 50x4y2
M= 50x4y2 —24x3y3 +24x2y4+2xy5
> N:= (5-x2-y4 + 32-x3-y3 - 18-x4-y2 + 20-x5-y)
N = 20x5y— 18)c4)/2-|-32)c3y3 +5x2y4
> IntMx = int(M, x)
IntMx = 2y2 (st - 3y)c4+4yzx3 + %y3x2)
> SGuno := expand(IntMx + int( (N — diff (IntMx, y)),y)) =_CI
SGuno = 10y2)c5 - 6y3x4 + 8y4x3 +y5x2=_C]
> IntNy = int(N, y)
IntNy = X (IOyZJC3 - 6y3x2 + 8y4x +y5)
> SGdos := expand(IntNy + int( (M — diff (IntNy, x)),x)) =_CI
SGdos = 10y2)c5 - 6y3x4 + 8y4x3 +y5x2=_C]
> SGtres := dsolve(Ecua)
SGtres = y(x) =0, 10y(x)2x5 - 6y(x)3x4 + 8y(x)4x3 —|—y(x)5 X+ ¢, =0

> FEcua

+20x" y(x)) (% y(X)) =0

> SolFinalUno = 10 y(x)° X’ — 6 y(x)’ x* + 8 y(x)* X’ + y(x)° ¥’ =_CI

SolFinalUno = lOy(x)zx5 - 6y(x)3x4 + 8y(x)4x3 X

+y(x) x" =¢,

> DerSolFinal = isolate(diff (SolFinalUno, x), diff (y(x), x) )

—2xy(x)’ = 24X y(x) 4+ 24 x y(x)’ — 50x" y(x)’
5 xzy )c)4 + 32 )c3y(x)3 — 18 x4y()c)2 + 20 xsy(x)

DerSolFinal := % y(x)=

(
(> DerEcua == isolate( Ecua, diff (y(x), x))
—2 )cy()c)5 — 24 )czy(x)4 + 24 x3y()c)3 — 50 )c4y(x)2
5 )czy(x)4 + 32 x3y(x)3 — 18 )c4y(x)2 + 20 xSy(x)
> Comprobar = simplify(rhs(DerSolFinal) — rhs(DerEcua) =0)
Comprobar == 0=0

DerEcua = % y(x)=

2xy(x)5 + 24 xzy(x)4 — 24 )c3y(x)3 + 50 )c4y()c)2 + (5 xzy(x)4 + 32 x3y()c)3 — 18 x4y(x)2

> Ecua = (2-x-y’ + 24-x"-y' = 24-x°y* + 50-x* ) + (579" + 320"y — 18x* )7 + 208
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| > restart

> EcuaDos = (2~y5 + 24'x-y4 - 24-x2'y3 + 50'x3'y2) + (5-x'y4 + 32'xz-y3 - 18-)c3~y2 +20-x"

. v'=0
»)y 5 4 2 3 3 2 4 2 3
EcuaDos =2 y(x)” + 24 xy(x)" — 24 x" y(x)” + 50 x" y(x)" + (Sxy(x)" + 32x p(x)

- 18x3y(x)2 + 20x4y(x)) (% y(x)) =0

;> with(DEtools) :
> odeadvisor(EcuaDos)
[ [_homogeneous, class A], rational, dAlembert]

(> Factint == intfactor(EcuaDos)
Factlnt == x

(> EcuaTres = simplify(Factlnt- EcuaDos)

EcuaTres := (20 xsy(x) — 18 x4y(x)2 + 32 )c3y(x)3 +5 xzy(x)4) (% y(x)) + 50 x4y(x)2

—24 )c3y(x)3 + 24 xzy(x)4 + 2xy()c)5 =0

> odeadvisor(EcuaTres)
[ [_homogeneous, class A], exact, rational, dAlembert]

| > restart

> EcuaCuatro = (2-x-y4 + 24-x2y3 — 24 -y2 + 50-x4-y) + (5')62')/3 + 32 -y2 - 18-x4-y
+20-x°) y'=0

EcuaCuatro = 2xy(x)4 + 24 xzy(x)3 — 24 )c3y(x)2 + 50 x4y(x) + (5 xzy(x)3 + 32 )c3y(x)2
- 18x4y(x) +20x5) (% y(x)) =0

> with(DEtools) :
> odeadvisor(EcuaCuatro)
[ [ _homogeneous, class A], rational, dAlembert|
> intfactor(EcuaCuatro)
y(x)
> FactintCuatro ==y
FactIntCuatro ==y
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